Sr

10

1"

Questions

Tt PP F S\

= Ui 38

U2 e S ue G,

PN P st

e b S A S 058 S Gl

C‘-‘J? U LS Js*—'U < 43;\5.

= e IS (52 mgeaia (S 538

s e dae S S (Sl ol Sde ) (500 mipeaia (S s3S,

G s g qalie € G S (S Gl ) 2 580 0e S5,

U e GBS s S,

= BS S i,

Answers Choice

A SK 8

A Gllae S ea (S Gl )

Gllae S s mm sl G 8w (S s
usis

i S

B-T™
Uaed lsls
Ol i) sl Shises

s hhe S ause sl dae @i ge Gl

s 3 ed) oeld

sl 8

G S5

JRAEN

g

L usis

NEETS

e S Gl (Sl K582 58
LSS sl Culea (S K, 8 258

DOT> DOWr U0®WP DOw

w >

.

e S o Sl S0, 18 58
e R,

Sl

oy oaly)

ody) A oS

e

O

Lss
dsle
e
[E I

58
Sl
Sk
G e

5 )50
skl

):\A
s

DOW>r DOWP UOWr DOW> UOW> O



